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WUg - # / SECTION - A

TS Uy / Objective Type Questions
mmlﬁsowwﬁ?m#:ﬁﬁ#ﬁrﬁmwﬁwﬁwh
mm%mwmﬁqw#ﬁiﬁ#vﬁwﬁh g g g m
wel faweq &t OMR ¥z av Fafera &1 B Bk

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to

mark your selected option on the OMR sheet. 40 x 1 =40

I, WNE T 10 cm % A ol g IR U Herh gen e I 3

T HA &

(A) 10em¥ 3Afts (B) 20 cm & it
v/

(C) 10cm¥ &H (D) 3 ¥ B AL

The magnification produced by a concave mirror of focal length

10 cm is positive, if the value of object distance is

(A) more than 10 cm (B) more than 20 cm

s

(C) less than 10 cm (D) none of these
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2.  Gr%E 8 ¥q A I AR | Igaa o § amadE F1 9=

k/ﬁ?ﬂt () wem?

3 TE 2 (D) %W A g Tl

On moving from focus towards the pole, the magnification in a

concave mirror

(A) increases (B) decreases

(C) remains constant (D) none of these
3. e faga w3 faem el ) faga e o waiafa s R 2

(A) TR Sl - (B) #F

{9;/ feufew st (D) ¢« arfig St

Which energy does a hydro-electric power plant convert into

electric energy ?

(A) Nuclear energy (B) Solar energy

(C) Potential energy (D) Thermal energy

R ! T N w AGaER Hecft el A a3 9 it nfy s @ R
@ gecht d e fage ww A Rwm 4 e wfomm & gwE@ aiad

game e

(A) TH-Her (B) W
€ T D) ?A
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e g 8 i agnetic fie]
A rectangular coil of a copper wire 18 rotated in a magn d

. i ' after
The direction of the induced current in the coil changes

(A) every one-fourth rotation
(B) every half rotation
(C) every one rotation

(D) every two rotations

o Jrae 0 F TuE Aw W I 8 F fafem @} qw wgm @
@ 21 It & fy < e R

(A)  PIHE A T g 3N (B). | BHE R YT B AR

(C) 99 & BIHEHIIN D) v A w7

The image of-an ant in a concave mirror is erect and goes o
increasing as the ant moves along the principal axis. The directiot

of motion of the ant is

(A) from focus to centre of curvature
(B) from focus to pole

(C) from pole to focus

(D) none of these

[H/S-24(M)/72042-7/80)] Page 6 of 4
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6. m%ﬁqaﬁmﬂwﬁﬁﬁﬁamg [212]
(A) 3R e (B) gl
(C) ot (D) uemf aiadfRwf
The radius of curvature of the len; of an eye is controlled by
(A) retina (B) iris
(C}' pupil (D) ciliary muscles
7. O =IgEl 1 U1 Iq@ 4 Qa1 R 2
(A) TUERA % HRO (B) W ¥
(C) 3IEENYY & HRO (D) HEEE F HE
Why is the colour of some clouds white ?
(A) Due to reflection (B) Due to scattering
(C) ﬁue to absorption (D) Due to refraction
8. ufry %1 SI 7T B8
(A) R (B) |
{c)/ afm (D) dee
The SI unit of resistance is
(A) ampere (B) watt
(C) ohm (D) volt
H/S-24(M)/72042-(77/80) | Page 7 of 40
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10.

11.

AT 9d F1 HaAE AT 8

(A) ATP (B) CFC

(C) NADP (D) DDT

Depletion of ozone layer is due to

(A)  ATP (B) CFC

(C) NADP (D) DDT

AR st & R ordfPres s e g B & 2
(A) wTREm (B) ererfaar

(C)  fiar (D) =

In which of the following organisms does asexual reproducti

occur through budding ?

(A)  Plasmodium (B) Leishmania
(C) Amoeba (D) Yeast

9TeY BT H1 T IR

(A) IAA (B) TSH

(C) ACH (D) ACTH

An example of plant hormone is
(A)  IAA (B) TSH

(C) ACH (D) ACTH

i H/S—24(M]/72042-mno;| Page 8 «
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12.  37e'H H1i¥% yau; g @
@/ﬁﬁs LY - B wHwgm
(C) Hel @l (D) o Rl
Vegetative propagation in potato takes place by
(A) root (B) seed
(C) fruit (D)  stem

13, ggfyem S @
&) w@H B) ¥
(€ IEW . (D) wEA™R
Hydrilla is found | |
(A) in water (B) in soil
(C) on tree (D) all of these

14. vy oAt o R e g @ |
(A) 140 mm Hg | ' : [W mm Hg
(C}) 100 mm Hg (D) 80 mm Hg
Systolic blood pressure of a healthy person is
(A) 140 mm Hg (B) 120 mm Hg
(C) 100 mm Hg (D) 80 mm Hg

H/S-24(M)/72042-(17/80) Page 9 of 40
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15, e e &1 IgE
\@/ JEEY (B) HI=A
(C) wodh (D) &l
An example of bisexual organism is
(A) Hydra (B) Man
(C) Fish (D) Goat
16. "ol & v g ?
(A)  Hegm (@/ firem T/
S (D)  Hwg g
In fish, respiration takes'place through
(A) mouth B) gills
(C) nose (D) lungs
17.  fcilaR-%el (kWh) amFe 2
(A) 9t &

(B) wWg &
(C) z=mH &1 E_D)/ % &
Kilowatt-hour (kWh) is the unit of
(A)  energy (B) time
(C) mass (D) power

i H/S-24(M)/ 72042-(77/80) |
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18. uma N T A @M FA I v @ aEr @) K R e &

(A) 9= AEh g B e @

() LY (D) gfEfE gro

The amount of light entering in human eye is controlled by

(A) ciliary muscles (B) pupil
(C) cornea (D) iris

19. - AW FA G § ?
(A) TR St @ B) i Fat
(€ Jaum (AE@wm) (D) FHRFRAA

Which is the conventional source of energy ?

(A) Nuclear energy source (B) Geo-thermal energy source

(C) Biomass (D) None of these
20. mﬂﬁﬁﬁﬁﬁﬁmmﬁ?ﬁ%
I (A) 4n? B) 3n?
(C) 2n? (D) n?
The maximum number of electrons in a shell is
@A) 4n® B) 3n?
(C) 2n? (D) n?
Page 11 of
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21.

22.

23.

- g A we A & 2

(A) Hem (B) A

(€ =g (D) ¥

Which hydrocarbon is the simplest compound ?
(A) Methane (B) Propane
(C) Butane . (D) Ethane
i d A frw urg 1 oS TER FH B ?

(A) Na (B) Cu

(C) Fe D) Al

Which of the following métals has the lowest melting point ?

(A) Na (B) Cu
(C) Fe (D) Al
|1 #) 9t ge @

(A) 23 | MS .
5 73 (D) 80

The atomic number of gold is
(A) 23 (B) 43

(€ 79 D) 80

I H/S-24(M]/72042-:w1w1| Page 12

by:BSEBResult.In




24,

25.

26.

(212
frafefea A SR emu @ 7
(A) HCI (B) NH,OH
(C) NaOH (D) K,S0,
Which of the following is a salt ?
(A) HCI (B) NH,OH
() NaOH | (D) K,SO,
Pt F g Wil A S 1 Qe g A $ w9 7 fswea wEem
(A) SO (B) ISARESH »

W | (D) f&w

The expulsion of water through-stomata in the form of vapour from
the aerial part of the plant is known as

(A) osmosis (B) transpiration

(C) excretion (D) diffusion

T8 IINIET 8
(A) o A &R B) fdm et =w A
L(:J/Q?ﬂﬂti'rd’rmw (D) ¥ 8 W3 TR

The tiger is a consumer of

(A) first trophic level (B) second trophic level

(C) third trophic level (D) none of these

by:BSEBResult.In
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27, wra w1 3@ W @

(A)/ W@ |
(C) IHIH (D) IR
The place of origin of human is
(A) India (8) China
(C) Africa - (D) America
08, FAHEA MR UE AR
W wemd B) e 3
€ S (D) oW it i

Peristalsis movcmeﬁt is found in
(A) Colon (B) Oesophagus
(C) Pancreas (D) Small intestine
29. @ ufEgs a3 9 STl 8
(A)  FERH @/ forerett &
(C) wI=d D) 3
Open circulatory system is found in
(A) pigeon (B) butterfly

(C) man (D) cat

by:BSEBResult.In
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30.

3.

32.

[212]
@ A AR +1 aEs R
I (B) gl
(© #wreifa (D) wwETEEe
The carrier of oxygen in blood is
(A) fat (B) hormone
(C) haemoglobin (D) carbohydrate
HHa °§ Hidem & el 6 den B 2
(A) 24 (B 23
€ 11 (D) 22

The number of pairs of autosomes in human is

(A) 24 (B) 23
€ 11 (D) 22

ST ST & Ry e g 1w T @
(&/ T (B) Hen

(C) e (D) ®

The most effective colour of visible light spectrum for

photosynthesis is

A ved (B) blue
(C) yellow (D) green
- H/S-24(M)/72042-tr7/80) Page 15 of 40
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33.

34.

35.

mm*mm%mﬁﬁwﬁﬁa
(A) ®EH (B) ﬁ‘rﬂ
©) (a) 3t (B) T D) THA w1 TEl

jiodic table is
The valency of all elements in a group of the periodic

(A) same (B) different

(C) both (A) and (B) (D) none of these
Prifies § & W % &9 3e@m § o @ ?
(A) T (B) AT

€ R (D) RdAE® W

Which of the following is used as'wine ?

(A) Ethanol (B) Methanol

(C) Vinegar (D) Methanoic acid
e grolt % gfte ol F et B G Read 2 2

(A) 18 (B) 12

€ 10 (D) 8

What is the number of elements in the third group of the period
table ?

Sl (B) 12

(C) 10 N

i H/S-24(M]/72042-[wno|I Page 16 gf;
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36. dRFA A Fwt 3vam P 4 5

) RFm B) e
gy i D)
Which is used in Solar celf ?
(A)  Uranium (B) Plastic
(C)  Silicon (D)  Plutonium
37. T A W WRI0 R 2, 8, 7 81 70 v 6 womm e wm R 2
(A) 10 (B) 11 |
©), 17 D) 19

The electronic configuration of an element is'2, 8, 7. What is the

atomic number of the element ?

(A) 10 ' ® 11

) 17 (D) 19
38. eUA fra urg & fasurg R ?

(A) Fe (B) Sn

© Al (D) Cu

Duralumin is an alloy of which metal ?

(A) Fe (B) Sn
€ Al (D) Cu
= H/S-24(M)/72042-¢7/80) Page 17 of 40
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39.

40.

41.

feem wieRe H FTHE g &

— L2

O NayPOWs D) NaPOs |
S—— formula of sodium phosphate is

(A) NaPO, (B) N33PO4

©  Nag(POus D) NegPos

& 6 s W BT v 1 FEQ 8

® B) T

© WA EE - (B

The structural and functional unit of Kidneyis called
(A) Urinary bladder (B) Glomerulus

(C) Bowman's capsule (D) Nephron

v R 9P va A T FA-3-50 Ree A R 2
(A) 1500 fert /= (B) 150 fmsftjuen

(C) 15 fedftyuay (D) 1-5 el yua

What should be the minimum speed of wind in a wind elec
generator ?

W {100 ki (B) 150 km/h

(C) 15km/h D) 15km/h

I H/S‘:-;;{M—)T:f'2042-{7-rno;| Page i-g-;ﬁ
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42. foreh 99 NI B @
(A) L (B) D.C.dle i
() e O w3 o
A split ring is used in °
(A)  galvanometer (B) D.C. motor
(C)  microscope (D)  none of these
43. wﬁﬁwm%mﬁamﬁnﬁmm%?
a)  TERE B) wRhR
(€) =g | (D) &} Bl
Metallic conduction is based on motion ‘of which particle in
material ?
(A) Electron (B) Proton
(C) Neutron (D) .None of these
44. FPG-TEW WR FH & F0 W A FE T @A Wl ]| @H RO 2
W%a@mﬁw%aﬁar@iﬂﬂqﬁmﬂmﬁ
B) fafior gro wen H @R B AF
(©) ¥ i el TH A T
(D) 38 A HIE TE
—_— Page 19 of 40
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~ solar cooker has a glass cover n

x-
The upper part of & e

reason for this is
Insi ooker i .
to see whether the food kept inside the c is by,

(A)
cooked or not
(B) to prevent loss of heat due to radiation
(C) to prevent the passage of dust into the box

(D) none of these

45. dlee@ V, R 9% P, #1 @ Wdus, Sieea v, | 9fe P, % wikius §
goft 4 Jo1 81 EHged Wiy #hm

v: v? B: Bl
(A) =L+ B) L-4+-2
R 5 - Y
P, 3 -P P
©c —1—= D) —L+=2
(V; +V,) Ve v

A resistor of power P, at voltage of V, is connected in series wit
another resistor of power P, at voltage V,. The equivale

resistance will be

v: p2 2 p2
(A) _*‘;I_+7% (B) %—+%.
_ 1 2

P +P
(C) —2 o D.h
(V, +V,)? Vl: V;

H/S-24(M)/72042-¢77uo; | Page 20 o?":-
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46, T ITA Wy § g [212]
/ T HY g e
(A SO Hz
(B) 60 H2
(C) 100 Hz
(D) 220 Hz
The frequcncy of alt :
. cmaung current in household electric circuit is
(A) SOH
i (B) 60 Hz
C 100
e " (D) 220 Hz
47 ﬁﬁ%ﬁmﬁﬁwwmammmmg?
GV (B) e
(€ 9 (D) frtea
Which of the following has the lowest refractive index ?
(A)  Turpentine (B} Benzene
(C)] Water (D) Kerosine
48. TH gUNU e frar aasi da R wan @ »
@ 3 B
‘9}( 5 (D) 6
‘ rfaces ?
A simple prism is bounded by how many surfac
B) 4
(A) 3
(D) 6
C 5 '
o (C) H/S-2 4(M) /72042-11’1{50) Pfa.gc 21 of 40
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50.

S1.

{2y

@l &

g% g g 5 i 3
(A) @A A 7
©) / I # LN 2
Kidney helps in .

IB] rcproduct.‘IOﬂ
(A) respiration

. (D) digestion

(C) excretion
YTyl YRS BT R

- ¥aa fa d
(A) HaB-I™ (\9‘/ e
(C) fea-ua (D) Had Td -
Photosynthesis takes place during
(A) Morning-evening (B) Day only
(C) Day-night (D)  Night only
ffRs ateq qr ST 2
(A) FwH (B) uftrss i
(C) s A (D) = &
Synaptic knobs are found in
(A] kidney (B) brajn
C
oy | —

f H/8-24(M)/ 72042-(77/80 | Page 22
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52. ﬁﬁﬂmﬁamwmﬁmg? |
(A) B B)  ameh
o (O) B
Which of the following has the fastest heartbeat ?
(A)  Elephant (B) Human
(C) Rat (D) Whale
53. R imiasmes
(A) A (B)
(C) =@ (D) & | W &
Which of the following is.cellular fuel ?
(A) Protein (B) Glucose
(C) Fat (D) None of these
54. ATPH wiohe 6! dam frad @A 2 2
(A) TH B @
Mq (D) =R
How many phosphates are there in ATP ?
A 1 (B) 2
C) 3 (D} 4
H/S-24(M)/72042-(77/80) - Page 23

by:BSEBResult.In



| 2

G - 27
: Wﬂmmﬂﬁﬂﬁmﬂ
(A) HHF & T
©) (D) dl

Which of
RR— (B) Kidney
(C) Pancreas (D) Skin
56. @wd B st ufa }
() R (B) U
()~ dfaas (D) FTEA g e
The smallest endocrine gland-is
(A) Adrenal (B) Thyroid
(C) Pineal (D) None of these

57. @t 3pA I § gAR YEH FA &
(A) H*amEe (B) OH” maA
(€ ERA (D) A
All acids dissolve in water to give
(A) H%ion (B) OH ion

(C) electron D)  neutr
on

by:BSEBResult.In
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00.

prifeea Al 3 o 2
(A) HCI

(B)
C) H,SO, CH,Co0H

c) H,SO
( 2%, D) HNo,

“3/ Sk - ®) e

©) e DL

What is the colour of silver iodide ?

(A) White | | (B) Blue
(C) Yellow (D) Green
g9 H3R SiHfas o 2

) =R ® @

@/gm (D) &

atural substance is
(B) Gold

The hardest n

(A) Silver
(D) [ron

(C) Diamond — Page
= 75 aAM /12042
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63.

(A) 1 o 4
(C) 3 of € bon are there 7
How many crystﬂlhne a]-lOtroI”s

® 2
a) 1

o 4
c) 3 .
Fas e fora g 1 I 82 |

| Z

A) Mg g
(C} Pb (D) Au
Zinc blende is an ore of which metal ?
(A) Mg (B) l'zn
(C) Pb (D) Au
o ¥ g A & wved % e et sy E 2
i I B 2

S D) 4

How many bonds are there between two atoms in a 1

nitrogen ?

A7) 1 J (B]
2

€) 3 -
) 4

H/S-24
M
M)/72045 7
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65.

66.

H‘i t 212
A C.H,
(B
(C) ﬂHzn-.g ) an2
(D) H
n""2n-\

{A’ CﬂHZni-Q
B
€ C.H, , i[:, C,H,,
C H
ﬂﬁ a; -Faq q ﬁ%t n "2n-1
(A) 25 fft (
B) 25 @
(C) 25+ Oy =
JHAd
The far point for the normal vision is
(A) 25 mm (B) 25
cm
(C) 25m (D) infinity

af freft fim, 1 sfefarm 1t womers 8, @ 3w sffea © wgia

= grft ?
(A) areafas i diw @) mE i dn

(C) - e 3R I (D) arfa® I

What will be the naturc of the image of an object, if magnification

of the image is negative ?
(B) Virtual and erect

(A) Real and erect

(D) Realand inverted

(C) Virtual and inverted

/ 72042-(77/%0) Page 27 of 4
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67.

68.

69.

[ 21y

THY & qUadd & fopad fPram & 2

(A) 1 9;- 2

(C) 3 (D) 4 |
How many laws are there for reflection of light ?

(A) 1 (B) 2

€ 3 (D) 4

Wmﬁmwmmwmmﬁg'mm“
T Em

-

(A) 135° (B) _90°

(C) 45° Jp/ 0°

A ray of light is incident perpendicular to a plane mirror. The ange

of reflection will be

(A) 135° (B) 90°

(C) 45° (D) ©°

IS H THE F BA-7 1 (o) it ool v 2 o
(A)  dren ®) wh

€ @ @/m

] H/S-24(M)/ 72042-(77/80) | Page 28 of 4
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which colour of
1ght SCatterg e (212
@ vellow ¢ in 4tmosphere ?
B) ¢
(C) Red range
(D)
, g # I Sy 3 Blue
Bl
(€) I W Iew 4y T S

D) w1 3 < g

Converging lens in ajr is

(A) Concave lens of :
glass (B] Plano-c.o“ca"re lens of glass

none of these

1. v&_ﬂﬁaaﬁwmﬁmmmm{a‘m’a
(A)  €ar sam QN

(€)  Convexlensofglass (p

If the lower half of a concave mirror gets broken then the image

(A)  will form erect (B) will be halved

(C)  will be less intense (D) none of these

2 mmﬁmw(ﬁmm)ﬁﬁa(wm)ﬁm%,aag

g STl 2
‘@/ s 8 (@) I

by:BSEBResult.In
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When a ray of light

denser medium ), it bends

rmal
(A) away from the normal (B) towards the no
(C) parallel to the normal (D) none of these
L Wmﬂmﬁwwﬂﬂaﬁ!?
(A) TR (B) oreht
© wm R

Which one of the following is the natural source of .oxalic acid ?

(A) Tomato (B) ., -Tamarind

(C) Orangeé (D) Vincgar

74. ¥NA #1 3% g7 CHg I wH
(A) 7 ggEdras Iy (B) 8 WEWAN®H WY R
(C) 9 uwadra® Jwy } (D) 10 HEEASS HEY B
Propane, with the molecular formula C,H; has

(A) 7 covalent bonds (B) 8 covalent bonds

(C) 9 covalent bonds (D) 10 covalent bonds

I H/S'24(M]/72042-|T?Il0] | Page 30 o[_;a

by:BSEBResult.In




NS Wa ey
Bl .
Ht"'%maﬁ
W) I Rl T e weh 2 >
B
(€) TR i, B) e
(D) ST

(A} i n fl'are d

(C) Ultraviolet
[D) All of tthe

HA-HI
1. 3'“‘@*‘:&%3@!4“3@% o A 2

(A) I o e

(C) HEW o |
Which nonfmetal Is found in liquid-state at room temperaturc ?
A . (B} Bromine

7. ﬁﬁmﬁﬂqm@a?

Mi \[99( s
a metalloid ?

Which one of the following 18

F (B) Cu
(A) e
(D) As

(C) Ni —_—

—_ /W
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{212

fra SFR F i € 7
(8)
78 CaCO,(s) - caO(s)+CO; ‘
(A) faareE L
(D) fafaret

) fae=

CaCo,(s) -+ CaO(s)+ €Oz

g) is what &YP€ of reaction ?
1S

(A) Decomposition
(D) Double displacement

(C) Displacement

rrifrg § ¥ adfie agferd 8 2

79
(A) Mg+0, = MgO B) Zn+H,S0, > 2ZnSO, +H,
\{9/ Fe + Cl, — FeCl, (D) Hy+Cl, 2 HCI
Which of the following equations,is‘balanced ?
(A) Mg + O, = MgO (B) Zn+H,SO, - ZnSO, + }-12
(C) Fe+Cl, = FeCl, (D) H,+Cl, -» HCI
80. fmafafea d @ frad gro st &3 § arvet awl &1t 2 2
(A)  FOTARIHTEA (B) T SEHTFATES
(C) INaA D) w7 srEsita
Which of the following causes acid rain in industrial areas ?
(A) Chlorofluorocarbon (B)  Sulphur dioxide
(C)  Ozone
(D) Carbon dioxide

[H/S-2a; -
/S 24(M)/?2042-[77;35{1 Page 32 Uf 4{
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/ BECTIOn.B [212)

fach question carries 2 m
o arks. 4x2=8

1, 1A i . .

s

Draw a labelled diagram of electrie'Bulb.

). ghfeduwno | )

What is persistence of vision ?

arg & R w Riow $i Al s wael worEm-fe $ amEda & fe

2

foetor am@ diH|

Draw a ray diagram to show refraction of ray of light at both the

refractive surfaces of a prism placed in air. -

gglﬁmﬁamwmﬁﬁ? &1 SI WEs gl

what do you mean by power of lens ? Write its Sl unit.
a
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Wﬁﬁwﬁmﬂ%? s T e I S 2
What is a simple microscop< 2 Draw its ray diagram.
j/ ST & Srada 1 FEm 418 2 5
What is the law of refraction of light ?
2

‘FTuYA’ @ 319 1A € P

What do you understand by 'short-circuit’ ?

fret ar &1 TR I T HIE H STk § hA W@ @M 2 2 9

is the resistance of a wire affected by its area of

How

cross-section ?

€ 3T U¥T / Long Answer Type Questions

woT qear 9 A 10 A FwAT T #1 T @ Rt v #T I &1 wedw gve

& forw 6 3w FrnifRa #1 1x6=6
Question Nos. 9 and 10 are Long Answer Type. Answer any one of them.
1x6=6

Each question carries 6 marks.

9. mmmﬁmﬁmawmmmﬁm

X 5 R - i
R=2f 6

Define focus of a concave spherical mirror. Prove that in a concave

i H/S-24(M)/ ?2042-;77;&0]] Page 34 of 40
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estion Nos, 1}
(0 18 are Shop Answer Type. Answer ar
fach question carries marks r.any 4 questions.

o
(a) M+ﬁﬁ1mﬂﬁaw+m

Ix2=8

1 +]

(b) m+ﬁﬂﬁmm+m

Write the balanced chemical equations for the following reactions :
(a)  Zinc + Silver nitrate — Zinc nitrate + Silver

(b)  Sodium + Water - Sodium hydroxide + Hydrogen.
1>/ a7 gl ¥ ¥ HeH HEwds 2 2

What are the essential steps for forest conservation ?
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'j.wﬂ?g@a:qmaﬂﬁmwﬁﬁrﬁi? 2

v
Why does carbon mainly form covalent compounds ?

14 Freume vd Ry svfrnad 3 w1 i @ ? =7 afufraat & adtam
ferfage| 2
What is the difference between displacement and double
displacement reactions ? Write equations for these reactions.

15, *eN F@ F gg FO ¥ forg R wifdam A @1 g fown wmen R, swa

T fad) 2

Name the sodium compound. which is used for softening hard

water.
16. TAEww 1R 2 2
What is Anodising ?
17. @RS vqd wE sl & @9 @ sim * ford) 2
Write two differences bctwnep minerals and ores.
13./’;‘ﬁ%zm$raﬁzmaaﬂﬂﬁwmﬁmmﬁi? 2
Xt
The aqueous solution of sodium carbonate is alkaline. Why ?
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" mihng | 212
Answe, Type T
f‘m o 203%3“’*‘%#13?13‘
¥ Bt v o 31 e e &
I1x8§=5

tion Nos. 19 and 2
s 0 are Long Answer Type. Answer any one of them

9,¢h1{;1..[@.'51?1:::1"1 carries 5 marks.
1x5=35
ST ® BU a6 Ry o B el

write down the laboratory method of T ey —

its chemical reaction with chlorine.
@/aﬁﬁmwwsﬂaﬁmw'mm%?_ 5
What is the effect of deforestatiomonwildlife ?

Sita faw= / Biology

#g A U / Short Answer Type Questions

T wEr 21#23%@W?fﬁﬁﬁ4wﬁ$mé:mm

§ o 2 ofa Fraffia 21

8 are Short Answer Typé. Answer any 4 questions.

Question Nos. 21 to 2 4x2=8
Bach guestion carries 2 marks. 2

productiun in living beings.

Write the jmportance of re

s {/s- 24{M]/72042 -(77/80) |
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<}y h Ud o § it Sar|

Explore the difference between blood and lymph.

23, qRTEEIFTIR?

What is external respiration ?

@/ﬂtﬁﬂsﬁmaﬁma? 2

Why do we sweat in summer ?

25. WHTY YNV #1 & P ¥Eeh) vanfys afvfEm & il ford) 2

What is photosynthesis ? Write. the equation of its chemical

reaction.

26. JAq-navT R 2 | 2
What is bio-magnification ?

27. W A SRy h @6 1 w171 e 7 2
What is the role of stomata and lenticels in respiration ?

28. THRIEM F1 8 ? 2

What is ascent of sap ?
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Draw a labelled diagram of human digestive system and explain
the digestive process-of food.

9. OTER Y@ F1 R P T T I g qOHH L

What is a food chain ? Explain it with an example.

fagr i@ wdfela @afl e,
Seee U, U8a UF, wEfAe
ATfemIfes eraeae f3® safe aad
s UTatl & fRE...
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